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ExHuME pp → gluon-gluon→dijets  

No smearing Full smearing

   0 < |t| < 4
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ExHuME pp → gluon-gluon→dijets  

            Hitmap – Full smearing
 0 <|t|<4 ; 0.01 < ξ < 0.2 ; 200< M<1000 GeV 

Single arm acceptance
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ExHuME pp → gluon-gluon→dijets  

 Acceptance t- ξ– Full smearing
 0 <|t|<4   0.01 < ξ < 0.2  15 σ 
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ExHuME pp → gluon-gluon→dijets  

 Acceptance t- ξ– Full smearing
 0 <|t|<4   0.01 < ξ < 0.2  20 σ 
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ExHuME pp → gluon-gluon→dijets  

Mass Acceptance – Full smearing
 0 <|t|<4   0.01 < ξ < 0.2  15 σ 
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